AP Calculus AB - Worksheet 94

Slope Fields

['The slope field from a certain differential equation is shown for each problem. For each, identify either the
differential equation OR particular solution that is associated with that slope field.
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of those points. (Two solutions for each slope field.)

For each slope field, plot and label the points A and B and sketch the particular solution that passes through each

5. @iz%;PointA: (0,1) ; Point B: (-2,-1)
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7. The slope field for the differential equation % =x+y is

shown in the figure to the right.
a) Sketch the solution curve through the point (0,1) .

b) Sketch the solution curve through the point (—3, 0).

¢) Use the tangent line to the curve y = f (x) at the point
(—3,0) to approximate y(-3.1)

Eo;n’l‘ slope
(-3%,9) é_‘[l = -3+0=-3
A ('310)
Yy-0 = -3(x +3)

L(x) = -3(x+3)
L(-31) =-3(-31+3) =-3(~0.1) = 0.3
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8. The slope field for the differential equation — =x—y is
9

shown in the figure to the right.
a) Sketch the graph of the particular solution that contains

(-1,-1).

b) Sketch the graph of the particular solution that contains
(1,-1).

c) State a point, other than the origin, where % =0. Find
d*y ) in _
T and use it to verify if your point is a local max or
min
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For each problem below a slope field and a differential equation are given. Explain why the slope field

CANNOT represent the differential equation.
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